A

REV MCO DWN DATE
¢ |20248501| RCR 10-SEP-08
/ D |20276884| CH 30-NOV-09

Jjfﬁ?///»mm
|

BRACKET

STRAIGHT SECTION
/g////f__FIBERGUIDE REF
Ll |
i

QUICK KNOB ASSY

TIGHTENED
QUICK KNOB POSITION

MOUNTING BRACKET
REF

DETAITL A
QUICK KNOB ASSEMBLY
SCALE  1.500 /\_/

THREADED ROD REF

?\
BRACKET

MOUNT ING HOLES

: = M%L“/%y].h\
: . Q) /‘ - 7
( = T A=) MOUNTING SCREWS

(SUPPLIED WITH BRACKET)

DETAITL B

(ALTERNATE MOUNTING BRACKET
POSITION SHOWN)

FIBERGUIDE REF

NOTES:

j: | TEMS INCLUDED WITH KIT ARE LISTED IN TABLE.

[~

BRACKET CLIP USED WITH EXISTING APPLICATIONS ONLY.

2{ LOCK WASHER USED WITH NEW APPLICATIONS ONLY.

I

. NOT ALL CONFIGURATIONS SHOWN AND/OR LISTED.

5. FIBERGUIDE ASSEMBLY: SEE THE INCLUDED REFERENCE DOCUMENT
ADC P/N 1168819 FOR INSTALLATION WITH ONLY QUICK KNOBS.

6. QUICK KNOB INSTALLATION INSTRUCTIONS:
INSERT QUICK KNOB THROUGH BRACKET, ROTATE 90°, AND INTO
T-SLOT IN FGS STRAIGHT SECTION. ROTATE CLOCKWISE
SUCH THAT THE FLANGES EXTEND INTO T-SLOT. SEE DETAIL A.

7. SEE DETAIL B FOR JUNCTION MOUNTING OPTION. USE I/4 INCH
SCREWS [INCLUDED WITH KIT.

| fe
PARTS LIST
DESCRIPTION QTY

THREADED ROD BRACKET

BRACKET CLIP |

HEX NUT (3/8",1/2", OR 5/8")

SPLIT LOCK WASHER (3/8",1/2",5/8")
SCREW, THD FORM 1/4-20

QUICK KNOB ASSEMBLY

PO PO PO PO

578" (EXISTING)
FGS-HETR-5/8-AS SPECIAL SHORT

FGS-HETR-5/8-$ 5/8" (EXISTING)

SHORT
FGS-HNTR-5/8-S | 5/8"(NEW) SHORT 3

578" (NEW)
FGS-HNTR-5/8-A SPECIAL BRACKET

578" (EXISTING)
FGS-HETR-5/8-A SPECIAL BRACKET

FGS-HETR- 1 4MM | AMM (EXISTING)
FGS-HETR-16MM l6MM (EXISTING)

(] [~] [ M [ [B] [ B[] [@]R]] Bl [@) ]

FGS-HNTR- | 6MM 16 MM (NEW)

FGS-HNTR- | AMM | AMM (NEW)
BRACKET CLIP FGS-HETR-12MM | 12mm (EXISTING)

FGS-HNTR- | 2MM | 2mm (NEW)
FGS-HETR-3/8 | 3/8" (EXISTING)

FGS-HNTR-3/8 3/8" (NEW)
i E%%EEFEQJ LE%%EE#EQ FGS-HETR-5/8 5/8" (EXISTING)

| | FGS-HNTR-5/8 5/8" (NEW)
FGS-HETR-1/2 | 172" (EXISTING)

| FGS-HNTR-1/2 172" (NEW)

WASHER CATALOG NUMBER | ROD DIAMETER

(3/8“’ |/2“’ OR 5/8“) THREADED ROD INFORMATION ON THIS DOCUMENT IS TITLE
BRACKET PROPRIETARY TO ADC AND SHALL FGS THREADED ROD
o8 DISCLOSED TN WHOLE OR TN PART MTG KIT (INSTAL DWG)
HEX NUT WITHOUT WRITTEN CONSENT OF ADC.
(3/8" 1/2", OR 5/8") ALL DIMS AND TOLERANCES . XX::N/A C DRAWING NUMBER D
T SEE DETAIL A OTHERWISE SPECTFIED ANGULAR.EN/A | SIZE | 174894 REV
FOR QUICK KNOB ASSY EneR: DEREK DERKS
o |
DO NOT SCALE DRAWING [fhsh JLELEDLAFR — SHT oF
A /I\ C g DIMENSIONS IN INCHES
THIRD ANGLE PROJECTION




